






• In a row of students, Rajesh is fifth from the left and Manish is sixth from the 

right. When they interchange their positions, Rajesh becomes thirteenth from 

the left. Then the position of Manish to the right is 

• एक विद्यार्थीयों की पंवि में, राजेश बांयी ओर से पांचिा तर्था मनीष दांयी ओर से छठा ह।ै जब ये 

आपस में अपना स्र्थान बदलते हैं, तो राजेश बांयी ओर से तेहरिा हो जाता ह।ै तो मनीष की दांयी 

ओर से वस्र्थवत ह ै-

A.5th

B. 16th

C. 15th

D.14th



• Seven persons A, B, C, D, E, F and G are sitting in a straight line facing north. 

Only two persons sit left of C and two persons sit between A and B. B sits to 

the left of A. E is an immediate neighbor to the right of A. Only one person sits 

to the right of D. F is not an immediate neighbor of B. Who is sitting in the 

middle?

• सात व्यवि A, B, C, D, E, F और G एक सीधी पंवि में उत्तर की ओर सम्मखु होकर बैठे हैं। 

केिल दो व्यवि C के बाए ंबैठे हैं और दो व्यवि A और B के मध्य बैठे हैं। B, A के बाए ंबैठा ह।ै 

E, A के दायें वनकटतम पडोसी ह।ै केिल एक व्यवि D के दाए ंबैठा ह।ै F, B का वनकटतम पडोसी 

नहीं ह।ै मध्य में कौन बैठा ह?ै A.C

B. E

C. D

D.A



• If 4 dozen oranges cost Rs 160, what will be the cost of 3 oranges?

• यवद 4 दजजन संतरों की लागत 160 रुपये हो, तो 3 संतरों की लागत वकतनी होगी?

A.Rs 8

B. Rs 9

C. Rs 11

D.None of the above



• Select the letter-cluster from the given alternatives which can replace the 

question mark (?) in the following series.

• वदए गए विकल्पों में से उस अक्षर-समहू का चयन करें जो वनम्नवलवखत श्रंखला में प्रश्न वचह्न (?) को 

प्रवतस्र्थावपत कर सकता ह।ै

• KYBA, FTEE, AOHI, VJKO, ?, LZQA

A.QENU

B. PFNU

C. QEMI

D.QDNI



• A series is given in which one term is wrong. Choose the wrong term from the 

given options.

• एक श्रंखला दी गयी ह ैवजसमें एक पद गलत ह।ै वदए गए विकल्पों में से गलत पद का चयन कीवजये। 

• IWY, MAV, QER, UIN, YMJ

A.UIN

B. MAV

C. IWY

D.YMJ



• Find the odd word from the given alternatives.

• वदए गए विकल्पों में से विषम शब्द ज्ञात कीवजए।

A.AZ

B. NM

C. TG

D.IX



• Four pairs of letter groups are given. Three of which are similar in some way 

and one is inconsistent. Select the odd one out.

• अक्षर समहूों के चार यगु्म वदए गए ह।ै वजनमें तीन वकसी न वकसी तरह समान हैं और एक असंगत ह।ै 

उस असंगत यगु्म का चयन कीवजए।

A. (LEG, OIL)

B. (LDP, OHU)

C. (COF, FSK)

D.(MVB, PYE)



• Select the option that is related to the third term in the same way as the second 

term is related to the first term.

• उस विकल्प का चयन कीवजए जो तीसरे पद से उसी प्रकार संबंवधत है वजस प्रकार दसूरा पद पहले 

पद से संबंवधत ह।ै

• Brave : Coward : : Cruel : ?

• बहादरु : कायर: : कू्रर : ?
A.उदासीन

B. भािकु

C. असभ्य

D.दयालु



• Study the given pattern carefully and select the number that can replace the 

question mark (?) from the given alternatives.

• वदए गए पैटनज का ध्यानपिूजक अध्ययन कीवजए और वदए गए विकल्पों में से उस संख्या का चयन 

कीवजए जो प्रश्निाचक वचन्ह (?) को प्रवतस्र्थावपत कर सकता ह।ै

• 1+2+3+5 = 39

• 2+ 3+ 4+ 5 = 54

• 1+ 3+ 4+ 5 = ?

A.50

B. 51

C. 55

D.56



• If P stands for '+', Q stands for '- ', R stands for 'x' and S stands for '÷', then 

which of the following option is correct?

• यवद P, '+' को दशाजता ह,ै Q,'- ' को दशाजता ह,ै R, 'x' को दशाजता है और S, '÷' को दशाजता ह,ै तब 

वनम्न में से कौन सा विकल्प सही ह?ै

A.16 R 12 P 49 S 7 Q 9 = 200

B. 32 S 8 R 9 = 160 Q 12 R 12

C. 8 R 8 P 8 S 8 Q 8 = 57

D.36 R 4 S 8 Q 7 P 4 = 10



• Avneesh got 78% marks in an exam and Kapil got 64% marks in the same 

exam. If the sum of the marks obtained by Kapil and Avnish is 923, then find 

the marks obtained by Kapil in the examination.

• अिनीश एक परीक्षा में 78% अंक प्राप्त करता ह ैऔर कवपल उसी परीक्षा में 64% अंक प्राप्त करता

ह।ै यवद कवपल और अिनीश द्वारा प्राप्त अंकों का योग 923 ह,ै तो कवपल द्वारा परीक्षा में प्राप्त अंक 

ज्ञात कीवजये।

A.507

B. 416

C. 458

D.600



• Select the number that will come next in the number series.

• उस संख्या का चयन कीवजए जो संख्या श्रंखला में आगे आएगी।

• 27, 40, 55, 72, 91, ?

A.99

B. 112

C. 111

D.102



• Select the number that will come next in the number series.

• उस संख्या का चयन कीवजए जो संख्या श्रंखला में आगे आएगी।

• 3, 2, 2, 3, 8, 35, ?

A.196

B. 204

C. 210

D.None of these



• Statement:

• All ducks are tigers./सभी बत्तख बाघ हैं।

• All tigers are monkeys./सभी बाघ बंदर हैं।

• All monkeys are cows./सभी बंदर गाय हैं।

• Conclusion:

• 1.All tiger are cow./सभी बाघ गाय हैं।

• 2.All monkeys are ducks./सभी बंदर बत्तख हैं।

• 3.All ducks are cows./सभी बत्तख गाय हैं।

• 4.All cows are tigers./सभी गाय बाघ हैं।



• Statement:

• No table is a bed./कोई मेज वबस्तर नहीं ह।ै

• No bed is door./कोई विस्तर, दरिाजा नहीं ह।ै

• All doors are chairs./सभी दरिाजे कुवसजयााँ हैं।

• Conclusion:

• No door is a table./कोई दरिाजा मेज नहीं ह।ै

• No chair is a bed./कोई कुसी वबस्तर नहीं ह।ै

• No chair is a table./कोई कुसी मेज नहीं ह।ै

• All chairs are doors./सभी कुवसजयााँ दरिाजे हैं।



• Which year's calendar after 1988 is the same as the year 1988?

• 1988 के बाद वकस िषज का कैलंडर, िषज 1988 के समान ह?ै

A.2016

B. 1990

C. 1996

D.1993



• Shalini's husband, Prakash, is the son of Karthik. Soumita is the wife of 

Nishant, who is the son of Jhanvi. If Ankur's daughter Jhanvi is married to 

Karthik, then how is Shalini related to Jhanvi?

• शावलनी का पवत, प्रकाश, कावतजक का पतु्र ह।ै सौवमता, वनशांत की पत्नी ह,ै जो जान्हिी का पतु्र ह।ै 

यवद अंकुर की पतु्री जान्हिी का वििाह कावतजक से हुआ ह,ै तो शावलनी का जान्हिी से क्या सम्बन्ध 

ह?ै

A.Daughter./ पतु्री

B. Sister-in-law / Sister-in-

law./भाभी / ननद

C. Sister./बहन

D.Daughter in law./बहू



• Choose the alternative which is closely resembles the mirror image of the given 

combination.

• उस विकल्प को चनुें जो वदए गए संयोजन की दपजण छवि के समान ह।ै



• In the following question number of triangle are

• वनम्नवलवखत प्रश्न में वत्रभजुों की संख्या है

A.12

B. 18

C. 22

D.26


